Higher_Quadratics.

1.
For what value of  k  does the equation  x 2- 5x + (k + 6) = 0 

have equal roots.









(3)

2.
(a) Find a real root if the equation  2x3 – 3x2 + 2x – 8 = 0.



(2)


(b) Show algebraically that there are no other real roots



(3)
3.
Express f(x) = (2x – 1)(2x + 5) in the form a(x + b)2 + c



(3) 

4.

(a)
Show that the function  
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 can be written in the 


form

[image: image2.wmf]2

()()

fxaxbc

=++

 where a, b and c are constants.



(3)
(b)
Hence, or otherwise, find the coordinates of the turning point of the function  f.












(1)
5.
The roots of the equation  (x – 1)(x + k) = -4 are equal.


Find the values of k.








(5)

      


      TOTAL (20)
















_1282477966.unknown

_1282478211.unknown

